Question No : 1 of 26

Marks: 1 (Budgeted Time 1 Min) =

TWhich one of the following is a statement?

-

Answer | Please select your correct option )

%+ 2 i3 positve
-

Logic is interesting

®xty=2

Mlay I come m?

Yeade By: Wadger Siddhu




(Question No : 2 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

TWhich one of the following iz the negation of the statement

“ If Tanwveer lives in Lahore then he lives in Paldstan. 7 7

Answer | Please select your correct option )

If Tanwveer does not live in Lahore then he does not live in Paldstan.
-

Tatveer does not live in Lahore then he lives in Pakistan

Tativeer does not live in Lahore and he lives in Paldstan,

If Tanveer lives in Lahore then he does not live in Pakistan

Yeade By: Wadger Siddhu




(Question No : 3 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

Let p be the staterment "You study” and g be the statement "You pass the exams."
Espress the following proposition as an English sentence.
=g

Answer | Please select your correct option )

Ifyou pass the exams then you must have studisd.
-

Ifyou study then vou pass the exams

Ifyou pass the exams then do not study.

If you do not study then you do not pass the exams

Yeade By: Wadger Siddhu




(Question No : 4 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

From the truth table, for p <3¢ to be true both p and ¢ must have the same truth values.

Answer | Please select your correct option )

True

False




Question No : 5 of 26 Marks: 1 (Budgeted Time 1 Min) =

The staternent "He will be the president if and only if he wins the presidential election" iz a 7 ‘

Answer | Please select your correct option )

Cenditional statement.

Biconditional statement.




Question No : 6 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

An argument 15 invalid i the conclusion is false when all the premizes are ... y

Answer | Please select your correct option )

False

True




Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min) =

Let & be anon empty subset of the Universal set T, then AT =

-

Answer | Please select your correct option )

A
(.

B

Yeade By: Wadger Siddhu




Question No : 8 of 26

Marks: 1 (Budgeted Time 1 Min) =

I AmE =i then sets A and B are called

-

Answer | Please select your correct option )

Disjoint sets

Equal sets




(Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) =

The setz {a, b,c} and {1,2,3} are ecual

-

Answer | Please select your correct option )

True

False




Question No : 10 of 26

Marks: 1 (Budgeted Time 1 Min) =

Fa={1,2, 3} mdB={{1.2}.,3 then & -B =

-

Answer | Please select your correct option )

(3}
o

{}

i & S

(1,2}

Yeade By: Wadger Siddhu




(Question No : 11 of 26

Marks: 1 (Budgeted Time 1 Min) =

TWhich of the relation defines a function from 3 = {245} to Y={1,24,6}.
R1= {24, 4.1

Rz ={{2.4), 4.1), (4.2, (5.8))

Rz= ({24, 4.1, 5.6))

4

Answer | Please select your correct option )

-

Rjand E2

k1

B3

B2 and B3

Yeade By: Wadger Siddhu




Question No : 12 of 26

Marks: 1 (Budgeted Time 1 Min) =

If a relation iz given by B = {(0,1),(1,2),(3,4)} then Range of E. 1z

-

Answer | Please select your correct option )

0,15
P

11,23

{234}

(1.24)

Yeade By: Wadger Siddhu




Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min) =

IR and = are reflesdve then B m Sz

-

Answer | Please select your correct option )

Reflezive
~
Transitrve
I
Symmetric
-~
Weade By: Wager Siddhu




Question No : 14 of 26

Marks: 1 (Budgeted Time 1 Min) =

Let B be a binary relation on a set & R is irreflesive iff

-

Answer | Please select your correct option )

Vach (a.a)eR
o
Vach, (a.a)¢R
o
ach.(az)gk
e
Weade By: Wager Siddhu




Question No : 15 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

For a graph to be the graph of a function, any given vertical line in its domam mtersects the graph in at

Answer | Please select your correct option )

hfost one point
P
lost two points.
e
Least one point.
~
Weade By: Wddgelr Siddha




(Question No : 16 of 26

Marks: 1 (Budgeted Time 1 Min) =

A constant function is one-to-one f and only if

-

Answer | Please select your correct option )

Itz domain is singleton
-

Its domain is empty

Itz co-domain is empty

Ttz co-domain is singleton

Yeade By: Wadger Siddhu




Question No : 17 of 26 Marks: 1 (Budgeted Time 1 Min) =

If f={(a, 1), (b,1), (c, 13} is a function from A& to B, then fis z

Answer | Please select your correct option )

An identity fimction
-

A singleton set

An empty set

A constant function

Yeade By: Wadger Siddhu




Question No : 18 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

Let ay,a,,a5,... .8, be an anthmetic sequence, then sum of the terms of secuence 15

Answer | Please select your correct option )

. S;%{mw@—l)d}
o _nlatay)
el 6
g =n(al+a“)
ol " 4
YWeade By: Wagdr Siddhu




Question No : 19 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

TWe calculate the sum of the series 14243+ . +100 by using formula

Answer | Please select your correct option )

n[n+])

Wede By: Wageir Siddhu




Question No : 20 of 26

Marks: 1 (Budgeted Time 1 Min) =

If

Tnitial value = 12
Final Value = 15
Increase =3

Then the Percentage change..............

-

Answer | Please select your correct option )

30%
-

15%

25%

12%

Yeade By: Wadger Siddhu




(Question No : 21 of 26

Marks: 2 (Budgeted Time 4 Min) =

A relation R on the zet of Natural numbers I is defined as:
Foral a,bell ,aRb if axb i3 odd.
Show that R 15 not reflesave.

-

Answer [ Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]

Jriormal A [rial o | EFEEE = =

Weade By: Weadgelr Siddhu



Question No : 22 of 26

Let

Ax4={(1.1).(12).(13).(2.1).(2.2).(2.3).(3.1).(3.2).(33)

Marks: 2 (Budgeted Time 4 Min) =
Determine the relation B such that z Ry iff z< »

-

Answer [ Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]
Jriormal A [rial = H B raE= s

2

Weade By: Weadgelr Siddhu



Question No : 23 of 26

Findz and yif

Marks: 3 (Budgeted Time & Min)
(z+2y, 3z-4y)=(612)

-

Answer [ Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]
Jriormal A [rial = H B raE= s

2

Weade By: Weadgelr Siddhu



Question No : 24 of 26 Marks: 3 (Budgeted Time & Min) =

-

TWrite down the five arithmetic operations that provide the foundation for all mathematical operations

Answer [ Please click here to Add Answer )

INnrmaI A [rial | [

i Weade By: Weadgelr Siddhu



Question No : 25 of 26

TWhich of the following sets are equal?

Marks: 5 (Budgeted Time 10 Min) =
C={x:xeNand x <3}

D={x:xe Nand xis odd,x <5}

Answer [ Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]
Jriormal A [rial o | EFEEE = =

=
== =L

Weade By: Weadgelr Siddhu



Question No : 26 of 26
Let f: R—R be defined by
x+1
flx)=

x+2
Show that £is one-to-one and onto.

Marks: 5 (Budgeted Time 10 Min)

-

Answer [ Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]
Jriormal A [rial = H B raE= s

2

Weade By: Weadgelr Siddhu



Question No : 25 of 26 Marks: 5 (Budgeted Time 10 Min) =
E={,2} a={3, 1}
F={21} H={13}
Answer [ Please click here to Add Answer )
O ElEn ] hes s e @6 oL@ o]
Jriormal A [rial o | EFEEE = =

ool
F=d=e

2

Weade By: Weadgelr Siddhu





